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X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXKXXXXXXXXXXXKXMS/2-6600403-00001XX
Function03 for No.9589

NOI_{.]:[y:x2+4x+5] 3=[y=2x+12x+15] .5:[y:—3(x—1)2]}
L2=[y=-(x-4)"+2] 4=[y=—x"-5] 6=[y=3(x+3)-6]
\l 307
\ frtelf
\\ f
‘\ 25+ | /
\ /
/ /
\ .
\! / /
\ / /
\ 157 /

=
o B
\x\\\\

No2=(f(x)=—x"+14x-45), ,No3=(f(x)=—x"-2x-1)
Nod=(f(x)=x>+4x-12), ,No5=(f(x)=-x"+49)
No6=(p=500-0.5x)

No7 : N = 100 ’
: P1 = 4000 , P2 = 4200 , P3 = 4400 ,
: B = 200 , M = 584800
No8 : P =7 , L =15 , A =49 , D =177
0
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X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXKXXXKXXXXXXXXXMS/2-6600403-00002XX
Function03 for No.9707

d=[y=x"-1] 3=[y=2x"-28x+94] S=[y=—2x"+8x-14]
2=[y=—"-12x-36] 4=[y=(x+3Y-3] 6=[y=-3(x+4)+7]

\ 30-
\ /

\ /
\
e

Nolz[

|

/ [ \
| \
/ \
| / \ \
’ /
/ . \
No2=(f(x)=—x"+14x—-49), ,No3=(f(x)=—x"+12x-232)

Nod =(f(x)=x>-8x+15), ,No5=(f(x)=-x"—12x-35)
No6=(p=300-0.5x)

No7 : N = 130 p
: P1 = 6000 , P2 = 6500 , P3 = 7000 ,
: B = 500 , M = 1368500
No8 : P = 8 , L =18 , A = 144 , D = 88
023 19:9:9:9:9:9:9.:9.9:9.9:9:9.9.9.:9.0:0:9.9:0:9.9:0:9.9.9:0.0:0:9.9.9:9.0:0:9.9:0:9.0:0:9:9:9.9.0:0:9.9.9.9.9:0:9.9.0:0.0:¢
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Function03 for No.9821

No]_[.lz[y=x2—10x+22] 3=[y==2(x-1)"+4] .5:[y:3x2+24x+43]}
2=[y=-x"+10x-24]  4=[y=2(x+2)"] 6=[y=—x"+2]
\ KO
\ \
\\ 25\‘ //
\ / /
20- /
\ A
\ [
\ [\ ,
\ / /
\ / /
/ 10+
\ | \ /
/ \
\ / 37 /
\ / TN
/ /71“\ \\\ /
| | | | . /A BN N N S |
W w s\ 4 /2 a8 8w
S/ [N
e %
// / \
/ \
/ /I —10_ Q\
A
/ / 15 \
/ / |
/ \
/ [ 20 \
e — \
[ |

j | \

f }! \\\

! i e |
No2=(f(x)=x"-14x+48), ,No3=(f(x)=—x"-6x-9)
No4=(f(x)=x>-6x-16), ,No5=(f(x)=-x"—2x+35)

No6=(p=300-0.7x)
No7 : N = 130 ,
P1 = 5000 , P2 = 5500 , P3 = 6000 ,
: B = 500 , M = 1728000
No8 : P =7 , L =13 , A = 64 , D =70
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X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXKXXXKXXXXXXXXXMS/2-6600403-00004XX
Function03 for No.10352

[.I:[y=3(x+6)2—4] 3=[y=2x"-20x+47] S=[y=-3(x-3)"-3]
Nol = 2 2 2
2=[y=x"-2] A=y=—x"—-14x-42] 6=[y=—x —-10x-25]
\\ \ / 30 //

\ \ oo

\ = /
\ \ _— ;

e
-
—
_—r
"‘--.\
o,

\ / 157 /

\ / 10- /
\ \ /
AT / N, /

| \
No2=(f(x)=x"+4x+4), ,No3=(f(x)=x"+4x)
Nod =(f(x)=—x"+10x—-24), ,No5=(f(x)=—x"+10x—16)
No6=(p=600-0.4x)

No7 : N = 100 p
: P1 = 4000 , P2 = 4200 , P3 = 4400 ,
: B = 200 , M = 595000
No8 : P =11 , L =14 , A =100 , D = 66
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10



);0:9:9.:0:9:9.:0:9:9.0:9:9.0:9:9.0:9:9.0:9.:9.0:9:9.0:0.:9.0:9.:9.0:0:9.0:0:0.0:0:9.0:0:9.0:0:9.0:0:9.0:0:0.0:0:9.0:0:0.0:0:0.0:0:9.0:0:0.0:0:9.0:0:0.0:0.¢
X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXKXXKXKXME/2-6600403-00005XX

Function03 for No.10380

_ _ 2
NO]:[ d=[y=-3x ;r3]
2=[y=(x-5Y7-4] 4=[y=3
| 30-
|
f
,” 25-

/

/ 20
1

\ / 10-

3=[y=—(x+2)+6]

X =30x+75]

S=[y=—x"+2x+6]
6=[y=2(x+7)Y-7]

/
/
/
/

=20+

=251

—
--.._-._..__________‘-

/ l

I i —~

No2=(f(x)==x"+6x+7),
Ab4:(ﬂx):x2—2x—48L

\ \
L\

i i
,No3=(f(x)=x>—10x +24)
,No5=(f(x)=x>+18x+81)

No6=(p=700-0.3x)

No7 : N = 110 ,
: P1 = 6000 , P2 = 6500 , P3 =
: B = 500 , M = 1410500
No8 : P =7 , L =38 , A =
0

X [Page = 00

7000 ,

81 , D =42
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Function03 for No.10412

d=[y=x"-4x-3] 3=[y==2(x-7)\+7] .5:[y:—3(x—5)2+4]}
2=[y=—(x-3)Y+5] 4=[y=—x"-12x-37] 6=[y=2x"—28x+91]

\ 30- /
\ //
\ /

—— /

Ne-rre--i--401

Nolz[

|
[ = ]
[
No2=(f(x)=—=x"=2x+3), ,No3=(f(x)=—x"—14x-49)

Nod=(f(x)=x>+6x+8), ,No3=(f(x)=—x"+2x+35)
No6=(p=500-0.7x)

No7 : N = 100 ’
: P1 = 6000 , P2 = 6200 , P3 = 6400 ,
: B = 200 , M = 720000
No8 : P =9 , L =16 , A =16 , D = 54
0
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Function03 for No.10487
— — 2_
NOIZ{I—[y—2x 28+ 102]
2=[y=-2x"-6]
| | 301

\\ //

\
\ /

\\ /I 15+

\ / 101

3=[y=(x+3)]
4=[y=—x"—14x-51]

\

\

\
\

\\
\

\

.5:[y:3x2+36x+114]}
6=[y=(x-7)-2]

-10 8 6 4 2 0

R T

No2=(f(x)=—x>+10x—16),

No4 = (f(x)=—x"+8x—15),

\
\

A
,No3 = (f(x)=—=x>+10x—25)
,No5=(f(x)=x"—4x)

No6=(p=300-0.3x)

No7 : N = 100 ,
: P1 = 6000 , P2 = 6500 , P3 =
: B = 500 , M = 1118000
No8 : P = 10 , L =21 , A =
X [Page = 0007]

7000 ,

121 , D =100
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Function03 for No.10644

NO]_{ d=[y=2x-17] 3=[y=-3x+42x - 144] .5:[y:—(x—2)2—7]}
l2=[y==2(x-5+4] 4=[y=x"+10x+25] 6=[y=(x—2)"+2]
\ \\ 30 ll /
| , |
— 25- / /
\\ \ / /
20-
= //
Vo
\ Lo /
\\ \\ / /
e
\ / //
5,
\ T L~
~ | N\
S 5 S Wy A /S G\
-10 -8 ¥ 4 2 2 4 10
NSy s
\ / \ \
5/ / \ \
L f/ \ \
/ r/ \ \
-10- / / \\
/ / Vo
15+ / \ \
[ .-
/ / e
] | \
-25- / l \\ \
o / |
No2=(f(x)==x>+6x+16), ,No3=(f(x)=—x"—4x-3)
Nod=(f(x)=—x>-18x-81), ,No5=(f(x)=x"+4x-5)
No6=(p=200-0.5x)
No7 : N = 120 ,
: Pl = 4000 , P2 = 4200 , P3 = 4400 ,
: B = 200 , M = 691200
No8 : P = 2 , L =9 , A = 100 , D =16
0
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Function03 for No.11101

No]_[.]z[y:(x—6)2—4] 3=[y=2x"+2] .5:[y:—x2+4x—4]}
l2=[y=3(x+3)Y+3] 4=[y=x"-4x+6] .6=[y=—2x"—20x—54]

ot %) /
\ A /
b

\ \\ }/0 \ /

/ -20- \

\
| \
/ 25 \
\

/ \
/ ] \
No2=(f(x)=—x>+81), ,No3=(f(x)=—x"+12x-36)
Nod =(f(x)=—=x"=2x+3), ,No5=(f(x)=x"—49)

No6=(p=300-0.4x)

No7 : N = 90 p
: P1 = 3000 , P2 = 3300 , P3 = 3600 ,
: B = 300 , M = 531300
No8 : P =11 , L =16 , A =49 , D = 66
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Function03 for No.11613

[.]:[y:x2+2x+5] 3=[y=-2x"—28x—-94] .5:[y:2x2—8x+8]}
Nol =
2=[y=—(x-57=-1] 4=[y=3(x+3)Y+5] .6=[y=(x—-1)"—6]
v 30~ i [
\ \ / [
\ L |
\ 25
R /]
\\ \\ \20 / / //
1 /
\ \ | /]
\ |\ \ / /
NS e D e
\\ \ j /
\ /
\ / /
\ Y
oy
\)&/ //
7 \ \ Yy
g \ N/
| / ‘ | N . / | ‘ |
10 /-8 6 4 2N 0 2 /4 6 8 10
AN /
NG S
M— "
/ \
/ \ 10+
/ \
/ \ 5]
// \\
i =20
\
\
\
\\ 25
\ L

No2=(f(x)=x"+6x+8),
No4=(f(x)=x>-2x-15),

No3 = (f(x)=—-x"-12x-36)
, No3 = (f(x) =—x" + 36)

No6=(p=600-0.4x)

No7 : N =
Pl =

: B =

No8 : P =
1

X [Page = 00

90
6000
200
6
0]

4

, P2
, M

4

L

4

= 6200 , P3 = 6400 ,
= 695800
= 10 A = 49 , D = 66
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Function03 for No.11720

No]_[.]z[y:(x+6)2—5] 3=[y=-3x+6x-8] .5:[y:x2—14x+52]}
L o2=[y=2x"+4]  A4=[y=—(x-5V+7] .6=[y=—2x"+12x-13]
30

i
/ 201 \
\
/ \
\ / 15+
\ /l : //
\ / 10 \\ /
\ / /
\ // . /'&?\ /
\\ // //d& \(/
| \, | 72{/ | : /%// \ | \\@ |
10 3 6 2 4 6 10
N e
—— Et \ \
f A
/ \ \
-10—/ \ |
\
/ \
-151[/ \ \
/ \ \
\ \
\
f \
= |
|
No2=(f(x)=x"-2x-8), ,No3=(f(x)=-x"+2x+35)
Nod=(f(x)=—x>—4x-4), ,No5S=(f(x)=x"—6x+38)
No6=(p=100-0.7 x)
No7 : N = 100 ,
: P1 = 6000 , P2 = 6500 , P3 = 7000 ,
: B = 500 , M = 990000
No8 : P =5 L =13 A =9 , D =15
1
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Function03 for No.12122

NO]_{ d=[y=x"+4x-3] 3=[y=—(x-6)Y+3] .5:[y:—x2+4x—9]}
l2=[y=-3(x+3)-1] 4=[y=—2x"+24x-66] .6=[y=2(x—-7)"]
30 \
\\
25- \ /
\\ /
20- /
\\ /
10 \ /
\ /
\ /
: AN/
N
10 8 6 4 2 0 2 ‘ 6 ‘ 10
! \ / / \ \
e
\ ,/ \
\
\\ / \
/ \-10‘ I/ \\
/ \ / \
/ t157 /" \ \
/ \ / \
/ o/ |
\ / \
/ \
20 [ \
/ \ I/ | i
/ A \
No2=(f(x)==x"+6x+16), ,No3=(f(x)=x"—236)
Nod=(f(x)=—=x>—6x+16), ,No5=(f(x)=x"+8x+16)
No6 =(p=400-0.5x)
No7 : N = 130 ,
: P1 = 4000 , P2 = 4400 , P3 = 4800 ,
: B = 400 , M = 1185600
No8 : P =4 , L =12 , A = 81 , D = 24
1
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Function03 for No.12133

NO]_[ d=[y=—"+4x] 3=[y=(x+2)]  S=[y=2x"-24x+74]
2=[y=3x"-6x+2] 4=[y=-2(x+3)+4] 6=[y=(x-6)—-1]
\\ 30~ \\ // /
\ 25 \ /
\\ )(
\ 207 /\\
\ /
A /
\ / \
\\ 15- // \
\ /
\ / \
\ / \
\ 10/ \
\\ // \
y . N/
e \ /
\\ // \\ \/
T T / y T \ T
10 8 6 /4 2\ 2 4\ 10
/ 3\
/ \/
/
/ AN \\
’ \
/ / %
/ /
/f 15
\ \
/ \ \
;’! / =207} \\
/ / \ \
/ / = \
/ / S
No2=(f(x)=x"+6x—-7), ,No3=(f(x)=-x"+2x+24)
Nod=(fix)=x>+4x-32), ,No5=(f(x)=x"+2x+1)
No6=(p=700-0.7x)
No7 N = 90 ,
P1 = 6000 , P2 = 6300 , P3 = 6600 ,
: B = 300 , M = 820800
No8 : P =5 , L =9 , A =16 , D = 60
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Function03 for No.12317

Nol_{ d=[y=(x+6) +2] 3=[y=321+4] ,5:[y:_(x_1)z_4]}
2=[y=-3x"+30x-78] 4=[y=2x"-28x+104] 6=[y=-x"—10x-32]
\ 30+ /

\ /

\ 25- {

/
\\ /
204
\ /
\ /
154
\ /
\
\
10
\\
‘ /
Ns/
10 8 6 2 5 0 3 p : s 0
~
N /N
PN / \

| i / : \\
/ / AV Voo

No2=(f(x)=x>+2x+1), ,No3=(f(x)=—x"—4x+12)
Nod=(f(x)=x"—6x+5), ,No5=(f{x)=-x>+10x-9)
No6=(p=300-0.4x)

No7 : N = 70 ’
: P1 = 4000 , P2 = 4500 , P3 = 5000 ,
: B = 500 , M = 710500
No8 : P =4 , L =11 , A =121 , D =28
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Function03 for No.12380

I=[y=3>+18x+27] .3=[y=—"+10x-20] .5:[y:2(x—4)2+4]}
=[y=—2(x-4)-2] 4=[y=x"-3] 6=[y=(x-3)—4]

\ 1 /

\\ e /

\\ / 10 \ /
\ 7 \

S AN

—15*

Nol = [

10

No2=(f(x)=x"-2x-8), ,No3=(f(x)=-x"-18x-281)
Nod=(f(x)=x>+2x—-15), ,No5=(f(x)=-x"+2x+48)
No6=(p=300-0.6x)

No7 : N = 130 ’
: P1 = 3000 , P2 = 3500 , P3 = 4000 ,
: B = 500 , M = 1430000
No8 : P = 3 , L =14 , A = 36 , D =9
1
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Function03 for No.12554

Nof — [1 [y=—"—14x-55] 3=[y=2x"-8x+6] .S=[y=—(x- 5)]}
[y——3(x+3)—1 .=[y=3x2—6x+10] .6=[y=x +1]
\ \ /]
\ \
\
\ 20- //
\ /
\ // f/
15 /
= /]
s
\
\ / /‘/
N 3 / /
N )/
10 8 6 4 2 0

15 \
/ \ \

\ P
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\ -25
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No2=(f(x)=x"+2x—-48), ,No3=(f(x)=x"—8x)
Nod =(f(x)=—=x>=8x—-16), ,No5=(f(x)=—x"—4x+12)
No6 =(p=600-0.6x)

No7 : N = 70 ’
: P1 = 7000 , P2 = 7500 , P3 = 8000 ,
: B = 500 , M = 737500
No8 : P = 3 , L =13 , A =100 , D = 39
1

X [Page = 00

(A 9:9:9:9:9:9:9.9:0.9:0:9.9:9:9.9:0:9.9:9.9.9:0:9.9.9:9.0:9:9.9.0.9.0:0.9.9:0.9:0:9.9.9.9:9.0:9.9.0:0.9:0:9.9.0.0.0:0.9:4



):0:0.9:9:9.9.9,9:9.0.9.9.9.9.9,9:0.:0.9.9.9.9,9.9:0.0.0.9.9.9.9.9.:0.:0.0.9.9.9.9.9:0.0.0.9.9.9.9,9:0:0.0.9.9.9.9.:9:0.:0.0.9.9.9.9.9:0:0.0.9.9.9.9.:0:0:0:¢
X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXXKXXXKXXXKXXXXXXXXXMS/2-6600403-00017XX
Function03 for No.12836

d=[y==2(x+3)-4] 3=[y=-3(x+2)-3] .5=[y:2x2—28x+92]}
2=[y=x"-2x+1] A4=[y=—(x+5)-5] b=[y=x"+4x+5]

\ \\ / /
\ \ / /

/
\ \ l/
\ 20 /
\ /
\ /
\ /

Nolz[

10

, \

/ | A
No2=(f(x)=—=x"+6x-9), ,No3=(f{x)=—x"+4x+5)
Nod=(f(x)=x>+8x+15), ,No5=(f(x)=-x"+4x+32)

No6=(p=500-0.2x)

No7 : N = 110 p
: P1 = 6000 , P2 = 6600 , P3 = 7200 ,
: B = 600 , M = 1382400
No8 : P =11 , L =20 , A =169 , D =132
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Function03 for No.12959
I=[y==2(x+4)"]

Ablzz{ 5
2=[y==x"+10x-20]

\
\
\

3=[y=(x-1)*+3]
4=[y=—x"-10x-30]

\ "

S=[y=3(x+4)-17]
6=[y=2x"—28x+96]

|

o /
‘ | \\ | /// | ///—)v\\ / / |
-10 8 6 \\ 4 // 2 ) 2/ a4 6 % 10
S \
/_ .\\\ ol \\

=15+

/ [\

No2 = (f(x) =—x" + 64),
No4 = (f(x)=-x>—12x-36),

—
—

,No3=(f(x)=x"-1)
,No5=(f(x)=x>+10x+21)

No6=(p=700-0.3x)

No7 : N = 100 ,
: P1 = 5000 , P2 = 5500 , P3 =
: B = 500 , M = 1248000
No8 : P =1 , L =2 , A =
18]
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Function03 for No.12967

NO]_{ d=[y=(x-7P+7] 3=[y=2x+12x+18] .5:[y:—x2—4x—3]}
2=[y=-3(x-7)-1] A=[y=—x"-17] 6=[y=-2x"—24x-68]
30 \
25- \
\
\
\

.

15- A\ /
10- \\ A

/ / \ -107 \\ / \\
/ EErem /

/ / \ ] \

/ \ \
] Lt \
/ / \ | k
No2=(f(x)=—x"+14x—-48), ,No3=(f(x)=—x"+10x-21)
Nod=(f(x)=x>-2x-3), ,No5=(f(x)=—x"+8x-16)

No6 =(p=400-0.1x)

No7 : N = 110 ’
: P1 = 4000 , P2 = 4200 , P3 = 4400 ,
: B = 200 , M = 652800
No8 : P = 2 , L =4 , A =100 , D = 24
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Function03 for No.12975

d=[y=3x+24x+49] 3=[y=-3(x—1)P+3] S=[y=-—2x-4] }
2=[y=x"-14x+48] 4=[y=—"+10x-25] .6=[y=—(x+7) +4]

\ J, 30+

\ | 25
\ /
\ .

\. J/ 151

\ =

Nolz[

10

N

i
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-4

H

~—O
)

7

q

4

2

No2=(f(x)=x"+6x-7), ,No3=(f(x)=—x"+2x+8)
Nod = (f(x)=—x"-6x+16), ,No5=(f(x)=—x"—18x—-81)
No6=(p=300-0.2x)

No7 N =120 p
Pl = 5000 , P2 = 5500 , P3 = 6000 ,
B = 500 , M = 1568000
No8 P =9 , L =20 , A =81 , D =108
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Function03 for No0.12979
d=[y=(x+1)+2]
2=[y=-3x"—18x-25]

\ 30-
\

\ .

\
\

\o
\

Nolz[ 3=l

4=[y=-2x"-4x-6]

=(x-2)’+6]

S=[y=3x"-24x+47]
6=[y=—(x-2)-1]

|

10>
N
—~—
5,
10 8 5 4 3 0 2 4 6 10

No2=(f(x)=—x"+4x+21),
No4 = (f(x)=x"+2x-35),

,No3 =(f(x)=—x"+ 14 x — 45)
,No5=(f(x)=—x"—6x-9)

No6=(p=400-0.2x)

No7 : N 90 ,
Pl 3000 , P2 = 3500 , P3 =
B 500 , M = 731500

No8 : P 6 , L =09 , A =
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4000 ,

144 , D = 66
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Function03 for No.13010

NO]_[ I=[y==2x+6] 3=[y=-3xX+12x-12] S5=[y=—(x+3)"-3]
l2=[y=="-2x+3] 4=[y=2(x-7P+1] 6=[y=(x+7)"-6]
{ 30
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[ 25-
/
=
Il 15_
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' ‘ ' % i 6 8 1w
ANIZ4/8 B
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f
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No2 = (f(x) =—x"+25),
No4 = (f(x) =x—8 x),

’I-zsf
/

- LA

,No3 =(f(x)=—x"+12x—36)
,No5=(f(x)=x>-2x-63)

No6=(p=100-0.2x)

No7 N = 80 ,
P1 = 4000 , P2 = 4500 , P
B = 500 , M = 806000
No8 P =9 , L =19 , A
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144 ,
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Function03 for No.13020

I=[y=-3x"+42x-153] 3=[y=—(x-5)"+7] .5:[y:(x—4)2—2]}
2=[y=-2x"-24x-67] 4=[y=3(x-4)"-4] 6=[y=x"+14x+49]

A [/

Nol = {

10 8 6 4 2 0 2/ 4 /6 8 10
/ /
/ N
=5

\

\
\

-10- \

L
(4]
|
'-..,___““_

F
No2=(f(x)=x"—4x-32), ,No3=(f(x)=x"—2x-35)
Nod=(f(x)=—x"+10x—-24), ,No5=(f(x)=—x"+18x—281)

No6=(p=400-0.2x)

No7 N = 100 p
Pl = 6000 , P2 = 6600 , P3 = 7200 ,
B = 600 , M = 1161600
No8 P =3 , L =11 , A =16 , D = 39
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Function03 for No.13028

d=[y=(x+2)Y-7] 3=[y=—x"+14x-56] .5:[y:—x2+2x—1]}
2=[y==2(x+1Y=1] 4=[y=3(x-4)+4] 6=[y=2x"+7]

\ \ 307 {
/

\ \ /
\\ \ 25 / I/
[/

Nolz[

=257
\
\
No2=(f(x)=—x"-2x+15), ,No3=(f(x)=x"—10x+21)

Nod=(f(x)=x>+14x+49), ,No5=(f(x)=—x"+6x—23)
No6=(p=500-0.1x)

No7 N = 110 p
Pl = 6000 , P2 = 6300 , P3 = 6600 ,
B = 300 , M = 920700
No8 P =14 , L =6 , A =9 , D = 36
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Function03 for No.13068

Ab]::[

\

I=[y=-x"-2x-1]
—[y=—x"+10x-
\ \

=[y=-3(x-2)"-3]
26]  A=[y=(x+2)"+4]
30- /

\ 20- /, /,
\ 15- / /
\ Jif
A
\

~
QK_/ 54 /
/
/

/
\

:[y:—2x2—28x—103]}

=[y=2x"-6]

‘ \
10 8 6 4 /Z‘(

No2=(f(x)=—x"—14x—-49),
Nod=(f(x)=x>-2x-13),

No7 : N 110
Pl 6000 , P2
B 600 , M
No8 : P 7 , L

No6=(p=400-0.2x)

= 6600 , P3 = 7200 ,
= 1655400
= 15 , A = 144 , D =63

_’/ \

\
\

,Asz(ﬂx):<ﬁ+4x)
,No5=(f(x)=x>+4x+3)
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Function03 for No.13086

d=[y=(x-3)]
2=[y=-x"+3]

\

\

\

No]z{

30+

25+

20

15

10+

3=[y=3x"-36x+113]
d=[y=2x"+4x+1]

|

\

\\/

S=[y=-3(x-4)-7]
Gb=[y=x"—14x+43]

|

/

-10-

=20+

=251

No2 = (f(x)=—x>—12x-36),
Nod=(f(x)=x>-12x+32),
No6=(p=700-0.2x)

No7 : N = 130 ,
: P1 = 7000 , P2 = 7500 , P3 =
: B = 500 , M = 1487500
No8 : P =2 , L =14 , A =
X [Page = 0026]

,No3=(f(x)=—x"-2x+15)
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FAREER
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\
\
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\

,No5=(f(x)=x>—4x-5)
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Function03 for No.13111

No]_[.]z[y:—3(x+l)2+5] 3=[y=2x"-28x+94] .5:[y:—2(x+5)2—2]}
L 2=y ==x*+7] d=[y=(x+2)Y+4] 6=[y=x’—14x+49]
\ 30 \ /
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\ 257 \\/
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/ /\\\ -107 \
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Ab2=(ﬂx):<g+4xx
Nod = (f(x)=x"+8x+ 16),

No6 =(p=
No7 N = 90 ,
Pl = 4000 , P2 = 4400 , P3 =
B = 400 , M = 686400
No8 P =3 , L =6 , A =
[Page = 0027]

,No3=(f(x)=—x"-2x+3)
,No5 =(f(x)=x"-6x+5)
300 — 0.4 x)
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Function03 for No.13116
d=[y=(x+6)"]
2=[y=-3x"+24x-52]

\ 30

\
\
\
\

\

N01=|:

25+

3=[y=-2x"+20x—-46]
4=[y=3x"+7]

S=[y=—(x-7)-7]
6=[y=—(x+5)+2]

|

No2=(f(x)=x"—4x-32),
No4=(f(x)=x>-18x+81),

\,"/ / \

,No3=(f(x)=—x"+9)
, No5 = (f(x)=—x"+ 64)

No6=(p=300-0.6x)

No7 N =120 p
Pl = 3000 , P2 = 3300 , P3 = 3600 ,
B = 300 , M = 712800
No8 P =7 , L =16 , A = 36 , D = 84
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Function03 for No.13122

d=[y=x"-14x+56] .3=[y=3x"+5] .5:[y:—2x2—16x—39]}
2=[y=-x"+8x—-19] 4=[y=2(x+2)"] .6=[y=(x—2)"+3]

= / /
VoL
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/ /
i /

N01=|:

/
-
wn
1
.“""""-e...

/
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\ o /
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// \\ 0./ \ .

\
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No2=(f(x)=x"-8x+12), ,No3=(f(x)=x>+16x+64)
Nod =(f(x)=—=x"+9), ,No5=(f(x)=x"+8x+12)
No6=(p=400-0.2x)

No7 N = 130 p
Pl = 4000 , P2 = 4400 , P3 = 4800 ,
B = 400 , M = 1351600
No8 p =1 , L =9 , A = 144 , D =13
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Function03 for No.13123
d=[y=-2x"+6]

Nolz[ ,
2=y==x"+2x-T7]

3=[y=3x"+36x+109]
d=[y=—(x+4)+5]

S=[y=(x-5)]
6=[y=2x"+28x+94]

|

\ / 307
\ [ /
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\ / \
\ / 207 \\
\ /
\\ !/ 17 //
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\\ /l /
\\ //// T /
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10 B \fj 2 /é 8 10

1

No2 =(f(x)=x"+4x+4),

Nod = (f(x)=x+4x-132),

\
\

,No3=(f(x)=—x"+8x—-7)
, No5 = (f(x)=x"—16)

No6=(p=700-0.3x)

No7 : N = 110 ,
P1 = 5000 , P2 = 5500 , P3 =
: B = 500 , M = 1379500
No8 : P = 3 , L =14 , A =
[Page = 0030]
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Function03 for No.13126

NO]_[.]:[y:—x2+12x—42] 3=[y=x"+3] .5:[y:2(x—3)2+2]}
.2=[y:3x2+42x+143] .4=[y=—2(x+6)2] .6=[y=x2—14x+54]
\ / \30‘ \ /

\ / \ ‘ /
\\ // 2% \ //

\
\ \ /
20 \ /

]\ - /
NIRRT /\ /

frbok Aot
/ \\ ~157

/ it
/ \

\\ 25
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No2=(f(x)=—x'=8x—7), ,No3=(f(x)=x"+2x)
Nod = (f(x)=-x"+16), ,No5=(f(x)=-x"+18x~81)
No6 =(p=600-0.3x)

No7 : N = 70 p
: P1 = 4000 , P2 = 4500 , P3 = 5000 ,
: B = 500 , M = 648000
No8 : P = 8 , L =18 , A =49 , D = 80
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Function03 for No.13421

Nol =
[.]z[y:—2x2+12x—11] 3=[y=2x"-24x+69] .5:[y=—3x2+42x—153]}

2=[y=(x-2)] d=[y=—(x-4)-5] b=[y=—(x+1)+7]
304

25
20+
151

10

BN 7N

—_—
/ | o Voo
/ 5 / Voo
/ I / \\ \ \ \
No2=(f(x)=x"+4x-5), ,No3=(f(x)=—x"—10x-25)

Nod=(f(x)==x+8x—12), ,No5=(f(x)=-x"+8x)
No6=(p=700-0.3x)

No7 : N = 120 ,
: P1 = 6000 , P2 = 6500 , P3 = 7000 ,
: B = 500 , M = 1456000
No8 : P = 6 , L =9 , A = 100 , D = 66
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Function03 for No.13646

d=[y=-x"+4x+1] 3=[y=-2(x-5)-6] S=[y=2x-5] }
2=[y=3x"—42x+146] 4=[y=(x+4)"] b=[y=x"+14x+47]

\ \ / 304 /
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/"'g"
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N
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1
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10 RS 4 2 \\\ 0 / 2 4 6§ 10
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=15+
=20+
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=30+

No2=(f(x)=x"—18x+81), ,No3=(f(x)=—-x+4x+5)

Nod=(f(x)=="-6x+7), ,No5=(f{x)=x"+12x+35)
No6 =(p=600-0.7 x)

No7 : N = 120 ,
: P1 = 4000 , P2 = 4500 , P3 = 5000 ,
: B = 500 , M = 1470000
No8 : P =11 , L =16 , A = 064 , D =110
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Function03 for No.13862

d=[y=—(x-5)Y+4] 3=[y=2x"-12x+18] S5=[y=(x-7)"+2]

2=[y==x"-3] 4=[y=-3x-42x-142] 6=[y=-2(x-5)-1]
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No2=(f(x)=x"—10x+21), ,No3=(f(x)=—x"—6x—-75)
No4=(f(x)=x"-2x+1), ,No5=(f(x)=-x"-14x-48)
No6 =(p=100-0.1x)

No7 N = 90 ,
Pl = 3000 , P2 = 3500 , P3 = 4000 ,
B = 500 , M = 702000
No8 P =9 , L = 14 , A =09 , D = 54
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Function03 for No.13943

NO]_[ d=[y=x"+2x] 3=[y=-3(x-2)-6] S=[y=3x+6] }
2=[y=x"+12x+32] 4=[y=—2x"-16x-39] .6=[y=—(x+4) +4]
\

30+ | /
‘ \
\

\

/ I\ \
/ #1\ \
/ | \ \
/ L30- \ \

No2=(f(x)=-x+16), ,No3=(f(x)=x"+10x+21)
Nod = (f(x)==x"-6x-9), ,No5=(flx)=—+14x-45)

No6=(p=300-0.2x)

No7 N = 80 ,
Pl = 4000 , P2 = 4400 , P3 = 4800 ,
B = 400 , M = 633600
No8 P =1 , L =12 , A = 64 , D =10
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Function03 for No0.13968

NOI_[.I:[y:—xz—IZx—M] 3=[y=2(x—1)+3] .5:[y:—2(x—3)2+3]}
L2=[y="+2x-1] 4=[y=-3x+30x-74] 6=[y=(x+7)—1]
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No2=(f(x)==x>-10x-21),
Nod=(f(x)=x"-6x+5),

,No3=(f(x)=—x"+2x+48)

, No5 = (f(x)=—x>—10x —25)

No6=(p=500-0.4x)

No7 : N = 70 ,
: P1 = 6000 , P2 = 6600 , P3 =
: B = 600 , M = 842400
No8 : P = 11 , L =16 , A =
X [Page = 0036]

7200 -,

144 , D = 66
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Function03 for No.14006

d=[y=—(x-7)Y+6] .3=[y=x"—10x+20] S=[y=3(x+4)] }
2=[y==2(x+7)-3] 4=[y=x"+2x-5] .6=[y=-3x"—18x-25]
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No2=(f(x)=x"-8x+15), ,No3=(f(x)=—x"—12x-32)
Nod=(f(x)==x"-8x-7), ,No5=(f(x)=x"+4x+4)
No6=(p=200-0.4x)

No7 N = 80 ,
Pl = 3000 , P2 = 3300 , P3 = 3600 ,
B = 300 , M = 520800
No8 P =1 , L =11 , A =09 , D =38
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Function03 for No.14022

d=[y=—(x+5)]

No]:[ )
2=[y=x"+14x+46]

/ 15

3=[y==2(x-2)-1]
4=[y=3x"—42x+145]
; 30-

25+

20+

10

.5=[y:—x2—5]

Gb=[y=-3(x+1)+1]

|

/
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/

/
[
{
f

No2 = (f(x) =—x" + 36),

No4 = (f(x) =—x

No7 N = 100 ,
Pl = 6000 , P2 = 66
B = 600 , M =13
No8 P =2 , L =29
0038]

\
o\

+6x+16),
No6=(p=700-0.4x)
00 ,

77600
, A=

P3 = 7200 ,

25 , D

= 22
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,No3=(f(x)=x"+2x-28)
,No5=(f(x)=x>-8x+16)
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